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MREs 2,976,124 1,936,984 1,039,140 53.65%
HY2HZHI 1,576,880 1,519,039 57,841 3.81%
8 41,506 39,692 1,814 4.57%
&t - =2 41,506 39,692 1,814 4.57%
Aot & St=ZAIEE 2t 33,176 33,158 18 0.05%
Xlgte=2| MFst S=u 2el(Xlot===el) 33,176 33,158 18 0.05%
Hegs(A14m) 8,330 6,534 1,7% 27 . 4%%
WS HeHXIE (XIGt==22l) 8,330 6,534 1,7% 27 . 4%%
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FHAAHSKIH 19,337 0 19,337 =3
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BAEIE(QAZ20I12) 19,337 0 19,337 =5
ERS 30,658 32,391 A1,733 A5.35%
= 3 i 15,791 15,791 0 0.00%
EE FHEE ZH(FHEZINAALL) 15,791 15,791 0 0.00%
HPEsS(THAHASD 14,867 16,600 A1,733 A10.44%
WRAHHXIE(FAHSZHLALY) 14,867 16,600 21,733 A10.44%
A - SIS 32,005 32,000 5 0.02%
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Xl otd 2 =3 e 32,000 32,000 0 0.00%
= 32,000 32,000 0
SMA FHIYE XA (L AFHIS X 32,000 32,000 0 0.00%
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= 32,000 32,000 0
NLES(LMA FEHIS XJAIY) 5 0 5 =5
BENNE(LVAFHIY XS2AIH) 5 0 5 =5
WEY=SF 4,124,927 2,928,209 1,196,718 40.87%
Al 5,600 5,600 0
- 4,119,327 2,922,609 1,196,718
sus - =2FSIIE 4,124,927 2,928,209 1,196,718 40.87%
Al 5,600 5,600 0
- 4,119,327 2,922,609 1,196,718
sus oH& &8 1,191,342 1,014,359 176,983 17.45%
Al 5,600 5,600 0
- 1,185,742 1,008,759 176,983
> A3 2N EE(FRE) 552,016 552,016 0 0.00%
FAUHE ESE(FIE) 639,326 462,343 176,983 38.28%
Al 5,600 5,600 0
- 633,726 456,743 176,983
NWLES(NSHE D) 2,827 0 2,827 =5
BEXE(FRE) 2,827 0 2,827 ==
MRES(nssHF ) 2,930,758 1,913,850 1,016,908 53.13%
LHEHAHXE(F=XHE) 2,930,758 1,913,850 1,016,908 53.13%
J|Et 1,576,880 1,519,039 57,841 3.81%
J|Et 1,576,880 1,519,039 57,841 3.81%
HY2HZH(LSSHH ) 1,576,880 1,519,039 57,841 3.81%
ol 2| (F=XIE) 1,576,880 1,519,039 57,841 3.81%




